== ®
r T FORCE & TORQUE

Bm oA #

RHZR5
Rz (FBilR) #l,ﬁ'a%

RH Series
Hydraulic | Electro- Hydraullc Ac@tors

ZiRENEEEETRAF
Wouxi Force & Torque Technology Co., Ltd.




i -

s u..u-..mm.p;y H!P{. i..

A O T P i
i r. ‘ - ~ \, ™ ; ] ?. & — . ==
! o L= - ! ‘ e 2 ‘

e

—

TR R — R e E R TEREITIES SR I TRIIER SR T, T
2023FHAFMIHE LRI . FREZRESSERE, S[kE, SHEE, S
BiEE. BRTHE280A, FrE3MZTART, FBA50h45.

35,000 m? 500,000+ Units 50 Million USD 20+ Years
Workshop Yearly Capacity Annual Turnover Expertise

1SO9001, 1SO14001, 1SO45001

SIL3 and ATEX by TUV Rheinland

DNV Type Approval

ROHS, REACH by SGS

EAC CU-TR 010, CU-TR 012, CU-TR 032
CE, PED etc.

Blasting Testing Report

Cycle Testing Report

-40°C and -60°C Testing Report
1SO12944 C4, C5, C5M Testing by SGS
Radiation Protection Testing etc.




RHRI#&E (B#&) HiTea
RH Series
Hydraulic | Electro-Hydraulic Actuator

AT gt
Hydraulic RN ITER
actuator Submerged

hydraulic
actuator

BiRn{TES
Electro-

hydraulic
actuator

iR Product Overview

RHEFIAHITRRENTREE NRITATRIFKE, %k
. TEEEMRFIEMBEEERE ], AR TH/ KA.
Zr mERREMEIET, RERITRA—RN S
PATEM. THRINEHE, RFREHEEFEMAIXIEIHT
IXzf), FEJEI RIS SCIIRERS R IR,

The RH series angle-travel hydraulic actuators are
specifically designed to operate ball valves, butterfly
valves, plug valves and other rotary valves for
opening / closing or regulating control.

This product integrates a hydraulic micro power unit
and a hydraulic actuator into one high-end actuating
component. No external oil pipe is required. The
valve can be driven simply by providing power, and
remote centralized control of the valve can be
achieved through the network.

& ETFEHIEN o

www.CV3000.com



02

_— ®
r T FORCE & TORQUE

B o#d| ®

.

&

FZEaéAR% Main Components

@ #8728 Indicator

NAMURRAE ST aME T TR B FAFM.

NAMUR indicator for easy mounting of accessories
such as limit switch etc.

@ BRzOEE Cam
ERASW, BAKEE

Nickel-plated alloy steel, precise positioning.

® IEzEhEH Pinion Shaft

ERA SN N SREE— U HERERETENAMUR,
ISO5211. DIN3337tpfE. RIFNHEAIES.

The high-precision integrated output shaft made of
nickel-plated alloy steel complies with the standards of
NAMUR, 1ISO5211 and DIN3337 simultaneously. The
size and material can be customized.

@ @R Bypass valve block

HEFS NG, PTSERFHEHE IR
Made of galvanized alloy steel, it can achieve the
switching between manual and automatic control
modes

® #&i# Body

BREBTERRQT450-105%%, IREmisA.

Ductile iron QT450-10 is integrally cast and coated with
epoxy resin.

BENthi788 Hydraulic

® fI5 End cap
XAEGEWN, REFAMIEEIR.
Made of alloy steel, coated with epoxy.

@ &= Piston

EEAFAGEINERGE, PR, EREWK.

The piston rack is made of alloy steel with nickel plating
which operates quickly and has a long service life.

PR{:EEET Stop screw

MRS A TR T IR T LR AT  THEE
B9+ 5° AT,

The two independent external travel stop bolts can
adjust +£5° at both open and close directions easily and
precisely.

FEEiEE Product Features

o RIERI—{RREMA, A RERRXEL.

The hydraulic cylinder is integrally cast to reduce the risk of

hydraulic oil leakage

RN R, EOTIEEEA.

Small sizes, large output torque, wide rang.

B ISRNE O IRASEIRITER T RIEHRM.

The built-in CAM limit structure design of the rack and pinion

avoids the risk of hydraulic oil leakage.

ZMRIESTUER TS SRR .

@ Multiple installation methods are suitable for valve control in
various occasions.

o ATIENMERRERNTRESIUAN SHRIFIIRE
BiE8) LB RS TR R,

@ The angle-travel double-acting hydraulic actuator is equipped with
on-site emergency operation functions. In emergency situations
(such as faults or power outages), the valve can be opened and
closed through the emergency manual pump.

S=TE

, ENRERT (HE

Uhﬂlﬂ

2000 ¢



- ®
r T FORCE & TORQUE

=4 544F] Parts & Materials B W oE R

2 Part NO. #Z#R Part Name ##} Material

1 }87:28 Inducator T#2#2#} Engineering plastic
2 Jiz Top cover i Carbon steel

3 TEEO#E Top cover O-ring THEEE: NBR

4 373K Upper shaft support ring T#2¥8¥} Engineering plastic
5 i Upper shaft gasket T#2¥8%l Engineering plastio
6 (4% Cam BEW Alloy steel

7 5404 Shaft A& Alloy steel

8 TAHSZHERIR Lower shaft support ring T#2%8#l Engineering plastic
9 THOMZEE Upper shaft O-ring T HS1EB: NBR

10 TS Lower shaft gasket T#2¥8%} Engineering plastic
11 JET5IZH4BH Adiusting bolt assembly THEBEL, B NBR, Carbon steel

12 #81K Body BREFHE Ductile Iron

13 TEZEZEE Piston O-ring THE#EX NBR

14 JEZESTRIR Piston bearing T#2¥8#} Engineering plastic
15 J5ZE Piston T3 Carbon steel

16 #l5 End caps 4 Carbon steel

17 HIE518%] End cap screws T3 Carbon steel

& SFEHIER



|
r T FORCE & TORQUE

®

& o o4 H

BATSR

- FUTHLA:
- IR T
. BHPER:
- TIRRE:
S |y
- WfIFER:
- TREA:

RE‘I’EFH B{ER
. =g
IP67\ IP68 (KT 30KKHRSER)
-20°C~+60°C
FRE, AR
A, ITFEET (FFC)
63Bar % 250Bar

< BERE 90°+5°
- ¥E: QT450-10 afxiN
< RE REWE

Technical Conditions

- Actuator systems: double-acting;

- Operating environment: for dry and submerged
- Protection: IP67, IP68 (long-term immersion at 30 meters underwater)
- Operating temperature: -20°C~+60°C

- Control mode: On/Off, Modulating

- Position indication: local, remote indication (optional)
- Working pressure: 63Bar ~ 250Bar

- Rotation: 90°+5°

- Material: QT450-10 or carbon steel

- Coating: epoxy resin

BENthi788 Hydraulic

Uﬁﬂlﬂ

00.com



— ®
r T FORCE & TORQUE

BENiT8E Hydraulic # W W R

JMiZR~F Dimensions (mm)

—-
—— O™ N — —
] %/ 1T - Qj—% 2-G1/4
'<\7 B .E _____ _%—_@ - ?
o ® @ ]
1 I
140 |
L

1NN

Tt

Cwodel | cyinder | A | & | ¢ |0 1 €| F ol al o | & [ L lul|n|w
RHO019 @30 63.5 98 30 80 @50 @70 20 103 Mex10 M8x12 245 17 21 162
RH0038 @40 61 1045 30 80 @70 @102 20 1245 M8x12 M10x15 290 22 26 185
RHO073 @52 66 116 30 80 @102 @125 20 137 M10x15 M12x18 299 27 31 195
RHO150 @65 76 139 30 130 - @140 30 184 - M16x24 410 36 40 249
RHO300 @85 91 171 30 130 @165 @215 30 2285 M20x30 M20x30 506 46 50 3165
RH0680 @120 112 209 30 130 @165 @254 30 274 M20x30 8-M16x24 592 55 60 377

i p— B, 7

= %ﬁ

i ==

-

“viocel {oyinder | A | 8 | ¢ | 0 | & [ F | H | o | |t lmlnlw]x]|T
RH1200 @100 260 372 10x12 G1/4" 254 298 264 M16x24 M20x30 731 @80 130 507 22 85.4
RH2300 @125 321 472 10x12 G3/8" 298 356 312 M20x30 M30x45 921 @120 130 630 32 1274

S =TiEnIER .



|
r T FORCE & TORQU

Bo#d| ®

.

&

®

E

JMiZR~F Dimensions (mm)

“odel | cyiner | A | B
@30
@40
@52
@65
285
@120

RHO19DAE
RHOD38DAE
RHOO073DAE
RHO150DAE
RHO300DAE
RHO680DAE

635 98
61 1045
66 116
76 139
91 171
112 209

BENthi788 Hydraulic

.

@

T
[

nM deep N -

)
(i

2 H

P

-~

4

]

1A
x|
! o : UI-I_!]‘ |

\

> 1

6"
) ‘%‘@@

W

lc /o lelFlclH]l Kk | M]IN]IW]
30 80 @50 @70 20 103 Méx10 M8x12 245 17 21 162
30 80 @70 @102 20 1245 M8x12 MI10x15 290 22 26 185
30 80 @102 @125 20 137 M10x15 M12x18 299 27 31 195
30 130 - @140 30 184 -  MI16x24 410 36 40 249
30 130 @165 @215 30 2285 M20x30 M20x30 506 46 50 3165
30 130 @165 @254 30 274 M20x30 8-M16x24 592 55 60 377
1 :
[s = 8P }
AT
// i \_g.\w 3
)
i1 NS i

i

I S S 7 O A

RH1200DAE
RH2300DAE

06

@100
@125

405
466

372
472

254
298

298
356

264 M1ex24 M20x30
312 M20x30 M30x45

& ==

731
921

@80
@120

130
130

652
776

X
22
32

85.4
127.4



®

E
M

R 44

T FORCE & TORQU

F
&

iple

INC

T{E[RIE Working Pr

#&ERIE Hydraulic Principle

£
g
e
2
£

BERITHE

Y
A

Rl
Control Valve Block

z
~

s

1a

—
B

L S/RIE Electrical Principle

07

4R | 3d| - ——n
- Ywoz-v | -bis| o V_sn,mw mm
+YWOZ-¥ | 4615 | o s Wm..q rl-l"
ENTYEE | zoa| < i\_j _
| |
B | NOD | v |
b
ENTYiEH | 100| © G T _|E|m_
IN| I~
2 | ¥LNESWE| IN| o —e g
5 !
mu_._ @ ZN| o HC H 11
t
%m, HeNEEWE | aN| 2 -;gv\M
%m 1= N
@
“AOD. T EFAE 1 a3
| 3d - —1
BHE # v
M@ e
B [
EETYEE| 0| + %A_Wj"
HIFEZ [NOD| v 157 _ |
[
EAYiEH | NO| © o5 I~ _.hlmclm."
IN| ~
W ELNMFSAE| IN| o Hz._m I
2 B ZN| o vz
= =
E 5 |wommnm| o2 (S
ﬁ % = a
c
“ﬂ o = I a3y

B JCANRER
Dual can bus

-FRiEhvwz-1 ~ANDV| @
+RiEhywoz-1 +1N0|[ wn
-\iywoz-f -aNoY| <
+VEvwoz-v +LV[ o
DEHITR | CHONY| ~ (ot z?r
TS | WONY| - et 5
on
Z
()
TN R TN
N B N | o —e—
B e
TR R T o —»—
NP N [ —»—
R ~
o
3 LNI$EANE: |LN-HOLOW| w m
< £
HZN[4EIE [eN-YOLOW| ._m o
o~ = O
NS4 | 1-HOLOW| — .._..wm O
S {H<
u L o o B
R EL toa| 2 T_l 3
R R TiE zoq| 2 -
YHZSERE | wodoq| T —— — .
PWErasg|  wodial
gl T Lia| & G
N aq| =
VERCHTHIEH gal 2 t mﬁ#;ﬁ
EREHTHIEE ral o —e—E
LHD| @ |—a—
LNYD
L1l ~ —-—
LHD| © |—p—o
LNVYD
12| v ————
ZHD| & —a—
ZNYD
21| o —-—
ZHD| ~ —p——
ZNVD
g1 — —p—
z
=N




_— ®
r T FORCE & TORQUE

HsER %R Torque & Sizing

%653 Torque Table
e 4R SHIEE Oil supply pressure (Unit: MPa)
A B A R < S =
RHOO019DA @30 188
RHOO38DA @40 382 420 458 496 535 572 764
RHO073DA @52 726 799 871 944 1016 1089 1452
RHO150DA @65 1512 1664 1815 1966 2117 2269 3025
RHO300DA @85 3017 3319 3621 3923 4224 4526 6035
RHO680DA 9120 6873 7560 8247 8935 9622 10390 13746
RH1200DA @100 11930 13123 14316 15509 16702 17895 23864
RH2300DA 2125 26100 28710 31320 33930 36540 39150 52202
= -
E&E% Weight Table
RHOO19 RHOO38 RH0073 RHO150 RHOBOO RH0680 RH1200 RH2300
Wt. (DA) 138

Bl=Sdp How to order

TR TEE Rotary actuator 0150 DA E O O
#&E Hydraulic

T iav ) 0019: 188Nm,  0038: 382Nm,  0073: 726Nm,

Output Torque:  0150: 1512Nm, 0300: 3172Nm, 0680: 6873Nm...

@10Mpa

{ERfL: SR: B{FF3 DA: TU{FF

Acting type:  SR: Spring Return DA: Double Acting

i
Electrically controlled

{ERAENE aig: FX S: =R
Operating Environment: ~ Omit: Dry S: Submerged

RIRES: O: F/XE S & (4-20mA) B2 WCANRE:
Feedback: = ON/OFF Analog (4-20mA) Double CAN Bus

. & SFRHIAR



HMPU3EE&BIEN a5 FT e o
Hydraulic Micro Power Unit

EEiA Overview

BREMEMNDBRTRTABNHBHR T B RENDIR,
IZNAT/INRE. BED. TRENNDRZIRES
EEIRASEERSF.

Hydraulic power can be output simply by supplying
power to the hydraulic micro power unit. It is widely
applied in hydraulic systems with small flow rates,
high pressure, no hydraulic power sources and limited
installation space.

| par s
[ i) = - [
O] #i- - [ESSisis

;, : ‘../”’//i’ﬁlﬂil N

F~ZER4ERE Main Components

BREMEMN A RITRBERIT SN, ERELTFEMTEMK.
Module hydraulic micro power unit adopts module design is mainly composed of the following parts.

* EE1L o JHiE o BUE

Motor Oil Tank Hydraulic lock
o AR ° i o AR

Gear pump Relief valve Wiring box

FEERiS S Features

o F—HMEZ, SHRENE, REAREFRK,
One model covers multiple flow specifications;

o BHEBEKX, &SAIA2008ar;
The output pressure up to 200Bar;

o RAEMNAERR, IESRER.
Unlimited installation position and Angle.

& EFiEHIER

www.CV3000.com

09



!-'_T FORCE & TORQUE
# @ H

HMPURERMEIEN I8 TT

Hydraulic Micro Power Unit

FAISHR Technical Conditions

o FOIFEL: IP6X, IPX8
Protection grade: IP6X, IPX8
s LERAE: R
Installation: arbitrary
o TEHIL W/ EiE
Mounting: Plate / Pipe
e T{ERRE: -20°C~+60°C
Operating temperature:-20°C~+60°C
o HEI: RAEER
Pump type:radial piston pump
o HERIMAR: 1BE
Pump body material: aluminum alloy
o T{REA: FIREREmER
Working pressure: see hydraulic characteristic
curve table for details

o EiaitHES: 200Bar
Maximum pressure: 200Bar

o SHRHER: FILREREHRER
Oil displacement: see hydraulic characteristic
curve table for details

o WM IE. RONEEH
Output direction: Bidirectional output in both
forward and reverse directions

o SHFEAF: 0.3L-1L
Tank volume: 0.3L-1L

o TENER: &9, FFEDINST524 (MNFEERIEHE
EHEREATEA. )
Medium: mineral oil according to DIN 51524
(other media on request)

o T{EEBIE: AC220V50/60Hz/DC24V
Working voltage: A220V 50/60Hz/DC24V

o FIEEEFR: 1.5A (350W), 2.5A (500W),
<5.5A(750W)
Rated current: 1.5A (350W), 2.5A (500W),
<5.5A (750W)

o BaIEA: <3A (350W), <5A (500W),
<12A (750W)
Starting current: <3A (350W), <5A (500W),
<12A (750W)

o T{FiEx: S3-10%-30min
Working mode: S$3-10%-30min
* SRR 140°C
Overload protection: 140°C

° & =Tl



HMP U}ﬁﬁﬁaﬂiﬂbgﬁ %T IE;CE ;E'FOR(J*l;f®
Hydraulic Micro Power Unit
RERE MRERF TR

Hydraulic Principle Hydraulic Curves

075

B
ls| f

5]

Bl=Sdp How to order

HMPU 01 A D

01: EWEHIE 1400 rpm HERHER 0.63CC/R If=R 350W [EEEEE 10pF
Rated speed 1400 rpm displacement 0.63CC/R P=350W C=10pF

02: EREEIE 1400 rpm jHZRHERE 0.88CC/R IhEE 500W BB A 16uF
Rated speed 1400 rpm displacement 0.88CC/R P=500W C=16pF

03: ERFESEIE 1350 rppm jEHER 1.25CC/R IR 750W [SEE8E 30pF
Rated speed 1350 rpm displacement 1.25CC/R P=750W C=30pF

iE: 04X EEEEAN

04* On request

EB iR : A: EEEES# AC220V 50/60HZ  1-Phase motor@AC220V 50/60HZ
Motor Selection B: EifitFE#l DC24V Direct current moto@DC24V

D: YYER S: B{EMA

Double Acting Single Acting

& =F 4R "



T rorce s roraue ek
Spring Return Hydraulic Actuator

BiEAREHhTRIEER
Torque for Spring Return Hydraulic Actuator

Unit: Nm
) SHEHYE HEH AR Hydraulic Torque Output
oo iz Sprng e
Model Cylinder pa B
Start
RHO019SR @30 135 90 98 53 135 90
RHO038SR @40 275 183 199 107 275 183
RHO073SR @52 523 349 378 203 523 349
RHO150SR @65 1089 726 787 424 1089 726
RHO300SR @85 2174 1449 1570 845 2174 1449
RHO680SR @120 4951 3301 3576 1925 4951 3301

V3I000.com



®

(=R~ IF T Force & Toraue
Product Range

& EFiEHIER

www.CV3000.com



